f 21k

SN ESEHREHIE W

24 www.sz-daking.com @

ERY: =X

NN

KA -M8-20-ZU
e il KA -S-M8-20 - X
! o }
7/ LB 8w B mem
: /.
FEKalel "G
S
Bt RS ﬁ% =2 [ /EEES or | w0 | wron | +01 | +imom
BN | RN -
1.0 0.90
M2.5x0.45 KA KAS M2.5 1.5 4.50 4.50 4.10 3.00 1.40 5.5
2.0 1.80
1.0 0.90
M3x0.5 KA KAS M3 1.5 4.50 4.50 4.70 3.00 1.40 5%
2.0 1.80
1.0 0.90
M4x0.7 KA KAS M4 1.5 5.50 5.50 5.10 3.20 1.40 7.0
2.0 1.80
1.0 0.90
M5x0.8 KA KAS M5 1.5 6.50 6.50 6.75 4,00 1.40 8.0
2.0 1.80
1.0 0.90
Méx1 KA KAS M6 15 8.00 8.00 8.30 5.00 1.40 10.0
2.0 1.80
M8x1.25 KA KAS M8 2.0 10.00 10.00 10.30 6.50 1.80 13.0
M10x1.5 KA KAS M10 2.0 12.50 12,50 12.85 8.00 1.80 15.0
M12x1.75 KA KAS M12 3.0 14.50 14.50 14.85 10.00 2.80 17.0
M16x2.0 KA KAS Mi6 3.0 18.50 18.50 18.85 13.00 2.80 22.0
M20x2.5 KA KAS M20 4.0 23.00 23.00 23.40 16.00 3.90 21.0
daki

FASTENER

9




